
Н пола=0.02

Н пот.=3.62

Н пола=0.00

Н пот.=3.60

Н пола=-0.02

Н пот.=3.60

Н пола=0.03

Н пот.=3.61

Н пола=0.03

Н пот.=3.61

Н пола=0.04

Н пот.=3.60

Н пола=0.04

Н пот.=3.60

Н пола=0.04

Н пот.=3.61

Н пола=-0.01

Н пот.=3.60

Н пола=0.03

Н пот.=3.61

Н пола=0.02

Н пот.=3.60

Н пола=0.03

Н пот.=3.61

Н пола=0.02

Н пот.=3.61

Н пола=0.04

Н пот.=3.62

Н пола=0.04

Н пот.=3.63

Н пола=0.00

Н пот.=3.64

Н пола=-0.01

Н пот.=3.62

Н пола=0.01

Н пот.=3.63

Н пола=0.01

Н пот.=3.64

Н пола=-0.01

Н пот.=3.64

Н пола=0.00

Н пот.=3.63

Н пола=0.01

Н пот.=3.65

Н пола=0.03

Н пот.=3.63

Н пола=0.03

Н пот.=3.63

Н пола=0.03

Н пот.=3.63

Н пола=-0.03

Н пот.=3.60

Н пола=0.03

Н пот.=3.61

Н пола=0.06

Н пот.=3.65

Н пола=0.07

Н пот.=3.65

Н пола=0.00

Н пот.=3.63

Н пола=-0.04

Н пот.=3.61

Н пола=0.08

Н пот.=3.64

Н пола=0.00
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Rp 0

Н пола=0.04

Н пот.=3.67
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